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Write your Roll No. on the top immediately on receipt

of this question paper.

All questions are divided into sections A and B.
Attempt any 5 questions out of 7 questions from each

of the sections.

Section A has short answer questions and each
carries 5 marks whereas Section B contains long

answer qucstions and each carries 10 marks.

wers may be written either in English or Hindi;

4309 medium should be used throughout the
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What are the equilibrium conditions of the goods

market and the money market? Explain.
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Derive LM-curve. What would the LM-curve look

like in a classical view? Explain.
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3. Explaj ‘
Plain the concepts of price setting and wage setting

relations :
- (Diagrams are required)
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4. Derive the aggregate demand curve with the help of
IS-LM framework.
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6. What is the relationship between the current account

~ balance and net exports?
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How 2re nominal exchange rates and rega] exchang.e
vates related? Explain,
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() If rea] money supply is given, why does an
Increase in income lead to an increase in rate of
interest in the money market?

qﬁmﬁmiﬁﬁdgﬁm%@%@

(ii) Using appropriate diagram, explain the
responsible factors of horizontal IS curve.

(i) Explain the concept of crowding Ougt effect.
(ii) Given i—

c =400 0.8Y

151360'—"201 g .

L= 0.4Y - 100i

M/P = 24007
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(0) Tind the I8 ourve,
() Find the LM ‘curve,
() woRT arae wwg W s T S ik
(i) RY ¥ -
C=400+0.8Y
I=1360-20i
L=0.4Y -100i
M/P = 2400
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3. Explain the labour market equilibrium with the help of
price setting and wage setting relations. Show the
effect of an :ncreasing unemployment benefits on

Jabour market equilibrium.
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6.
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Using aggregate demand- aggregate supply framework,
what are the short-run and medium- run effect of an
expansionary monetary policy on output and price level
(If there is one time increase in the level of nominal

money supply)?
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What are the items to be included in the balance of
p,aymcn.t of a _cou.r.,l,tr;}‘(f—',!"
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What is the J-ourve? What explains the behavior of
net €Xports mp;ascnwd by the J-curve?
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